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���6SHFLDO�VDIHW\ �
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���2SHUDWLRQ �

���0DLQWHQDQFH�DQG�LQVSHFWLRQ �
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����6SDUH�3DUWV�/LVW�IRU�&KDLQ�+RLVW�35(0,80�352����� W�±�� W ��
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�� 5HDG�EHIRUH�
XVH�

�� 'R�QRW�
RYHUORDG

�� 'R�QRW�ZRUN�
XQGHU�D�ORDG�

�� 1HYHU�SXOO�WKH�
FKDLQ�IURP�WKH�
VLGH�

�� 1HYHU�ZRUN�
ZLWK�D�
GDPDJHG�
KRLVW�

�� 1HYHU�OLIW�KXPDQ�
ZLWK�WKLV�KRLVW�

�� 1HYHU�WKURZ�
WKH�KRLVW

�� 'R�QRW�ZUDS�
WKH�ORDG�FKDLQ�
DURXQG�WKH�
ORDG

�� 1(9(5�
H[WHQG�WKH�
+DQG�OHYHU�
ZLWK�D�SLSH�

��� 1HYHU�ZRUN�
XS�WR�WKH�HQG�
RI�FKDLQ

��� 1HYHU�DWWDFK�WKH�
ORDG�RQ�WKH�WLS�RI�
WKH�KRRN�

��� ���1HYHU�
ZRUN�ZLWK�D�
WZLVWHG�RU�
EURNHQ�FKDLQ�

��� 1HYHU�ZRUN�
ZLWKRXW�D�
VDIHW\�ODWFK�

��� 1HYHU�UHPRYH�
WKH�ZDUQLQJ�
QRWLFH
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���*HQHUDOO\

&KDLQ�KRLVWV�DUH�IRU�OLIWLQJ�RI�ORDGV�RQO\��
7KH�KRLVWV�FDQ�EH�DWWDFKHG�WR�D�WUROOH\�RI�DQ\�W\SH�DV�D�WUDYHOOLQJ�KRLVW�

)LYH�SURPLQHQW�IHDWXUHV�

± 6DIHW\�LQ�RSHUDWLRQ�ZLWK�PLQLPXP�PDLQWHQDQFH��

± /LJKW�ZHLJKW�DQG�HDV\�KDQGOLQJ�
± )LQH�DSSHDUDQFH�ZLWK�VPDOO�VL]H
± 'XUDELOLW\�LQ�VHUYLFH�

,QWHOOHFWXDO�SURSHUW\

+RLVW�PRGHOV��GUDZLQJV�DQG�HQJLQHHULQJ�DUH�RI�RXU�H[FOXVLYH�SURSHUW\��,W�LV�H[SUHVVO\�

ZULWWHQ�SHUPLVVLRQ�

:DUUDQW\

3/$1(7$�ZDUUDQWV�WR�WKH�RULJLQDO�XVHU�LWV�KRLVWV�WR�EH�IUHH�RI�GHIHFWV�LQ�PDWHULDO�DQG�
ZRUNPDQVKLS�IRU�D�SHULRG�RI�RQH�\HDU�IURP�WKH�GDWH�RI�SXUFKDVH��3/$1(7$�ZLOO�UHSDLU��
ZLWKRXW�FRVW��DQ\�SURGXFW�IRXQG�WR�EH�GHIHFWLYH��LQFOXGLQJ�SDUWV�DQG�ODERU�FKDUJHV��RU�
DW�LWV�RSWLRQ��ZLOO�UHSODFH�VXFK�SURGXFWV�RU�UHIXQG�WKH�SXUFKDVH�SULFH�OHVV�D�UHDVRQDEOH�
DOORZDQFH�IRU�GHSUHFLDWLRQ��LQ�H[FKDQJH�IRU�WKH�SURGXFW�
,I�DQ\�SURGXFW�SURYHV�GHIHFWLYH�ZLWKLQ�LWV�RULJLQDO�RQH�\HDU�ZDUUDQW\�SHULRG��LW�VKRXOG�
EH�UHWXUQHG�WR�DQ\�DXWKRUL]HG�3/$1(7$�GHDOHU��WUDQVSRUWDWLRQ�SUHSDLG�ZLWK�SURRI�RI�

7KLV�ZDUUDQW\�GRHV�QRW�DSSO\�WR�SURGXFWV�ZKLFK�3/$1(7$�KDV�GHWHUPLQHG�WR�KDYH�
EHHQ�PLVXVHG�RU�DEXVHG��LPSURSHUO\�PDLQWDLQHG�E\�WKH�SXUFKDVHU��RU�ZKHUH�WKH�
PDOIXQFWLRQ�RU�GHIHFW�FDQ�EH�DWWULEXWHG�WR�WKH�XVH�RI�QR�JHQXLQH�3/$1(7$�SDUWV�
3/$1(7$�PDNHV�QR�RWKHU�ZDUUDQW\��DQG�DOO�LPSOLHG�ZDUUDQWLHV�LQFOXGLQJ�DQ\�ZDUUDQW\�

H[SUHVVHG�ZDUUDQW\�SHULRG�DV�VHW�IRUWK�DERYH��3/$1(7$�V�PD[LPXP�OLDELOLW\�LV�OLPLWHG�
WR�WKH�SXUFKDVH�SULFH�RI�WKH�SURGXFW�DQG�LQ�QR�HYHQW�VKDOO�3/$1(7$�EH�OLDEOH�IRU�DQ\�
FRQVHTXHQWLDO��LQGLUHFW��LQFLGHQWDO��RU�VSHFLDO�GDPDJHV�RI�DQ\�QDWXUH�DULVLQJ�IURP�WKH�
VDOH�RU�XVH�RI�WKH�SURGXFW��ZKHWKHU�EDVHG�RQ�FRQWUDFW��WRUW��RU�RWKHUZLVH�



�

���,PSRUWDQW�1RWHV

± 5HDG�LQVWUXFWLRQ�DQG�PDNH�LW�DYDLODEOH�WR�RSHUDWRUV�RQ�WKH�GHYLFH�EHIRUH�XVH�
± 2SHUDWRU�PXVW�EH�LQVWUXFWHG�SURSHUO\�ZLWK�WKH�GHYLFH��1HYHU�OHDYH�WKH�GHYLFH�XQGHU�

ORDG�XQDWWHQGHG�
± 1HYHU�H[FHHG�OLIWLQJ�FDSDFLW\�LQGLFDWHG�RQ�WKH�QDPH�SODWH��'R�QRW�GUDZ�DQ\�SXOO�DQG�

OLIWLQJ�FKDLQV�RYHU�DQJOHV�
± 'R�QRW�WUDQVSRUW�SHUVRQV�RU�ORDGV�ZLWK�WKH�SURGXFW�RYHU�DUHDV�ZKHUH�SHUVRQV�

FRXOG�EH�
± 'HYLFH�PXVW�EH�FKHFNHG�RQFH�D�\HDU�E\�D�WHFKQLFDO�H[SHUW��LQ�FDVH�RI�KDUGHU�

RSHUDWLQJ�FRQGLWLRQV�PRUH�RIWHQ��$VN�\RXU�UHWDLOHU�RU�XV��7KH�HQWHUSULVHU�LV�OLDEOH�LQ�

± &KHFN�WKH�GHYLFH�UHJDUGLQJ�GDPDJHV��XQIDVWHQHG�VFUHZV�RU�WZLVWV�EHIRUH�XVLQJ�LW�
WR�HOLPLQDWH�IDLOXUHV�

± 5HSDLU�ZRUNV�RQ�KRLVWLQJ�GHYLFHV�VKDOO�RQO\�EH�FDUULHG�RXW�E\�WKH�PDQXIDFWXUHU�RU�
DQ�LQVWUXFWHG�UHSDLU�VKRS�E\�XVLQJ�RULJLQDO�VSDUH�SDUWV�

± &KHFN�ORDG�FDUU\LQJ�FRQVWUXFWLRQV��ORDG�VHFXULQJ�GHYLFHV��PRXQWLQJV��FURVV�EHDPV�
HWF��UHJDUGLQJ�ORDG�FDUU\LQJ�FDSDFLW\�DQG�FRQGLWLRQ�RI�WKH�UHTXLUHG�ORDGV�E\�D�
WHFKQLFDO�H[SHUW�

SURWHFWLRQ�RU�SURGXFW�DOWHUDWLRQV�ZLWKRXW�DXWKRULW\�UHVXOW�LQ�H[SLU\�RI�WKH�ZDUUDQW\�
± 5LVN�RI�FRUURVLRQ�LQ�FDVH�RI�FRQWLQXRXV�FRQWDFW�ZLWK�XQIDYRXUDEOH�DWPRVSKHULF�

DWPRVSKHUHV�ZLWK�DFLG�YDSRXUV��FRUURVLYH�JDVHV�RU�KLJK�GXVW�FRQFHQWUDWLRQ�FDXVH�
HDUO\�ZHDU��7KLV�HIIHFWXDWHV�QR�FODLP�XQGHU�ZDUUDQW\�

± )XUWKHU�LQIRUPDWLRQ�RU�VSDUH�SDUW�OLVWV�ZLOO�NLQGO\�EH�SURYLGHG�E\�XV�RU�\RXU�VSHFLDOLVW�
GHDOHU�

���6SHFLDO�VDIHW\

± 5HDG�EHIRUH�XVH�
± 'R�QRW�RYHUORDG
± 'R�QRW�ZRUN�XQGHU�D�ORDG
± 1HYHU�SXOO�WKH�FKDLQ�IURP�WKH�VLGH
± 1HYHU�ZRUN�ZLWK�D�GDPDJHG�KRLVW
± 1HYHU�OLIW�SHUVRQV�ZLWK�WKLV�KRLVW
± 1HYHU�WKURZ�WKH�KRLVW
± 'R�QRW�ZUDS�WKH�ORDG�FKDLQ�DURXQG�WKH�ORDG
± 1HYHU�ZRUN�XS�WR�WKH�HQG�RI�FKDLQ�
± 1HYHU�DWWDFK�WKH�ORDG�RQ�WKH�WLS�RI�WKH�KRRN�
± 1HYHU�ZRUN�ZLWK�D�WZLVWHG�RU�EURNHQ�FKDLQ
± 1HYHU�ZRUN�ZLWKRXW�D�VDIHW\�ODWFK
± 1HYHU�UHPRYH�WKH�ZDUQLQJ�QRWLFH



�

���,QVWDOODWLRQ�LQVWUXFWLRQV�EHIRUH�FRQQHFWLQJ

$��
± &KDLQ�KRLVWV�ZLWK�WUDYHOOLQJ�WUROOH\�XQGHUOLH�WKH�DFFLGHQW�SUHYHQWLRQ�UHJXODWLRQ��899��

�)HGHUDO�FRRSHUDWLYH�VRFLHW\�UHJXODWLRQV�RI�*HUPDQ\���'*89�5HJXODWLRQ������

EH�FDUULHG�RXW��3OHDVH�FRQWDFW�3/$1(7$�IRU�LW��:H�ZLOO�NLQGO\�DGYLVH�\RX�
± 1HYHU�XVH�WKH�KRLVW�EHORZ�����GHJUHHV�&HOVLXV�RU�DERYH������GHJUHHV�&HOVLXV�

%��,QVWDOODWLRQ�DQG�WHVWLQJ�SULRU�WR�HDFK�XVH
± +DQJ�KRLVW�ZLWK�WKH�FODPS�LQWR�WKH�ORDG�FDUU\LQJ�V\VWHP�DQG�WXUQ�RQFH�
± +DQG�FKDLQ�DQG�ORDG�FKDLQ�PXVW�KDQJ�IUHH�DQG�EH�ZLWKRXW�EUHDNV�RU�WZLVWV��
± &KDLQ�EORFN��3XOO�WKURXJK�KDQG�FKDLQ�RQH�WLPH�FRPSOHWHO\�ZLWKRXW�ORDG��
± ,QVSHFWLRQ�RI�ORDG�EUDNH��/LIW�XS�OLJKWO\�WKH�ORDG�DQG�KROG�LW��,I�ORDG�LV�VDIH��JR�RQ�OLIWLQJ��

:KHQ�ORZHULQJ��WKH�ORDG�VKDOO�QRW�VOLGH�DIWHU�KDQG�FKDLQ�VKXWGRZQ�RU�VWRS�RI�WKH�OHYHU��
± ,I�HYHU\WKLQJ�LV�SHUIRUPHG�SURSHUO\��RSHUDWLRQ�FDQ�EH�VWDUWHG�
± ,PSRUWDQW�IRU�GHYLFHV�RI�PXOWLSOH�OLQHV��/RZHU�EORFN�VKDOO�QRW�EH�VQDSSHG�WKURXJK�WKH�

FKDLQ�ORRS��7KLV�FDQ�EH�UHFRJQLVHG�E\�D�WZLVWHG�FKDLQ��(DFK�VHFRQG�FKDLQ�OLQN�LV�LQ�
RQH�URZ�QRW�VWHDGLO\�LQ�DOLJQPHQW��,I�WKH�ZHOGHG�VHDPV�RI�WKH�FKDLQ�OLQNV�DUH�QRW�LQ�
VDPH�GLUHFWLRQ�WKH�ORZHU�EORFN�PXVW�EH�VWUXFN�EDFN�WKURXJK�WKH�FKDLQ�ORRS�

± 7KH�ODVW�FKDLQ�OLQN�PXVW�EH�IDVWHQHG�RQ�WKH�KRLVW�ERG\�

���2SHUDWLRQ

± %UDNH�FORVHV�LQGHSHQGHQWO\�ZKHQ�KDQJLQJ�RQ�WKH�PLQLPDO�ORDG�
�DSSU������RI�QRPLQDO�ORDG��

± &KDLQ�EORFN�LV�RQO\�VXLWDEOH�IRU�YHUWLFDO�OLIWLQJ�DQG�ORZHULQJ�
± 7R�PRYH�WKH�ORDG�WKH�KDQG�FKDLQ�LV�SXOOHG�XS�RU�GRZQ�

���0DLQWHQDQFH�DQG�LQVSHFWLRQ

&KDLQV�DQG�+RRNV
± 7KH�FKDLQV�DQG�FODPSV�KDYH�WR�EH�LQVSHFWHG�FRQWLQXRXVO\��&OHDQ�FKDLQ�EHIRUH�

LQVSHFWLRQ��/XEULFDWH�ORDG�FKDLQ�IURP�WLPH�WR�WLPH��1HYHU�OXEULFDWH�RU�JUHDVH�WKH�
EUDNH�

± 5HWUDFWHG�FKDLQ�VKDOO�QRW�FOLFN�XQGHU�ORDG�
± &KHFN�FKDLQ�IRU�WHQVLRQ��7KH�LQWHUQDO�OHQJWK��W��RI�D�ZRUQ�FKDLQ�OLQN��VPDOOHVW�

GLDPHWHU�RI�ZLUH��'��DQG�OHQJWK�RI����FKDLQ�OLQNV��D��DUH�PHDVXUHG�E\�D�VOLGH�JDXJH�

± 'LPHQVLRQV��,I�WKH�GHYLDWLRQV�RI�PHDVXUHPHQW�H[FHHG�WKH�YDOXHV��D��LQ�WKH�
IROORZLQJ�WDEOH�VXEVWLWXWH�FKDLQ�LPPHGLDWHO\��0HDVXUH�RI�GLDPHWHU��'��VKDOO�QRW�EH�
XQGHU�UXQ�DQG�WKH�SLWFK��W��RI�WKH�VLQJOH�OLQN�QRW�EH�H[FHHGHG�



�

���2YHUORDG�VDIHW\�GHYLFH

$OO�VSXU�JHDU�FKDLQ�EORFNV�35(0,80�352�KDYH�D�
VWDQGDUG�DGMXVWDEOH�RYHUORDG�VDIHW\�GHYLFH�IURP����NJ�
RU�DERYH��7KLV�SURWHFWV�WKH�GHYLFH�E\�SURKLELWLQJ�OLIWLQJ�
PRUH�WKDQ�WKH�SUHVHW�IULFWLRQ�FRQQHFWLRQ�LQ�WKH�KDQG�
ZKHHO�SHUPLWV��7KH�RYHUORDG�SURWHFWLRQ�LV�VHW�DW�WKH�
IDFWRU\��%\�IDVWHQLQJ�RU�ORRVHQLQJ�WKH�SUHVV�QXW�SRV������
WKH�SUHVVXUH�RQ�WKH�IULFWLRQ�GLVF�LV�LQFUHDVHG�RU�ORZHUHG��
,I�WKH�GHVLUHG�YDOXH�LV�UHDFKHG��WKH�QXW�SRV�����LV�
VHFXUHG�E\�EHQGLQJ�RQH�RU�WZR�WHHWK�RI�WKH�WRRWK�ZKHHO�
SRV�����LQWR�WKH�FRUUHVSRQGLQJ�JDS�LQ�WKH�QXW�

&DSDFLW\

0D[��PHDVXUHPHQW�RI
0LQ��FKDLQ�OLQN
GLDPHWHU��'���FKDLQ�

OLQN��W�
���FKDLQ�
OLQNV��D�

���� W ����PP �����PP ���PP

��� W ����PP �����PP ���PP

�W ����PP �����PP ���PP

��� W ����PP �����PP ���PP

�W ����PP �����PP ���PP

�W ����PP �����PP ���PP

�W ����PP �����PP ���PP

��W ����PP �����PP ���PP

��W ����PP �����PP ���PP

&DSDFLW\ &ODPS�PRXWK�RSHQLQJ�
´*µ�QRUPDO�²�PD[�

���� W ��±��PP

��� W ��±��PP

�W ��±��PP

��� W ��±��PP

�W ��±��PP

�W ��±��PP

�W ��±��PP

��W ��±��PP

��W ��±��PP
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7<3( 35(0,80�352��� ���� ��� � ��� � � � �� �� ��

&DSDFLW\ W ���� ��� � ��� � � � �� �� ��

6WDQGDUG�OLIW P � � � � � � � � � �

0LQ��KHDGURRP��$� PP ��� ��� ��� ��� ��� ��� ��� ��� ���� ����

+DQG�FKDLQ�IRUFH GD1 �� �� ���� �� �� �� �� ���� ���� ���[��

+DQG�FKDLQ�RSHUDWLRQ�
OHQJWK

P ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

1XPEHU�RI�FKDLQ�IDOOV � � � � � � � � � ��

&KDLQ�VL]H PP ��[��� ��[��� ��[��� ��[��� ��[��� ���[��� ���[��� ���[���
 ���[��� ���[���

%��'LPHQVLRQV� PP �� ��� ��� ��� ��� ��� ��� ��� ��� ���

& PP ���� ��� ��� ��� ��� ��� ��� ��� ��� ���

' PP �� �� �� �� �� �� �� �� ��� ���

( PP �� �� �� �� �� �� �� �� �� ��

) PP ��� ��� ��� ��� ��� ��� ��� ��� ��� ���

:HLJKW�ZLWK��P�OLIW NJ ��� ��� ���� ���� ���� ���� �� �� ��� ���

:HLJKW�IRU��P�DGGLWLRQDO�OLIW NJ ���� ���� ���� ��� ��� ��� ��� ��� ���� ����
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����6SDUH�3DUWV�/LVW�IRU�&KDLQ�+RLVW�35(0,80�352�����W�²��W

&RPSRQHQW�SDUWV�35(0,80�352�����W
,WHP 4W\� 'HVFULSWLRQ 3DUW�1R�

� � /RFNLQJ�QXW =������� 3LHFH

� � *HDU�ER[�FDS =������� 3LHFH

� � :DVKHU =������� 3LHFH

� � *HDU�ZKHHO =������� 3LHFH

� � 'ULYLQJ�VKDIW =������� 3LHFH

� � &HQWHU�JHDU�ZKHHO =������� 3LHFH

� � 5LJKW�VLGH�SODWH� =������� 3LHFH

� � 7RS�KRRN�SLQ =������� 3LHFH

�� � &KDLQ�JXLGH�UROOHU =������� 3LHFH

�� � /RDG�&KDLQ�VSURFNHW =������� 3LHFH

�� � +DQG�FKDLQ =������� P

�� � /HIW�VLGH�SODWH =������� 3LHFH

�� � &KDLQ�VWULSSHU =������� 3LHFH

�� � &KDLQ�VXVSHQVLRQ =������� 3LHFH

�� � 6SOLW�SLQ =������� 3LHFH

�� � 3LQ =������� 3LHFH

�� � /RDG�FKDLQ =������� P

�� � 1DPH�SODWH =������� 3LHFH

�� � %UDNH�VHDW =������� 3LHFH

�� � 5DWFKHW�GLVN =������� 3LHFH

�� � 1DPH�SODWH�ULYHW =������� 3LHFH

�� � 6SOLW�SLQ =������� 3LHFH

�� � &DVWOH�QXW =������� 3LHFH

�� � +DQG�ZKHHO�FRYHU =������� 3LHFH

�� � 'XVW�SURWHFWLRQ�FRYHU =������� 3LHFH

&RPSOHWH�SDUWV�35(0,80�352�����W
,WHP 4W\� 'HVFULSWLRQ 3DUW�1R�

�� �
7RS�ORDG�KRRN�DVVHP�
EO\��,WHP ���������[���
�����[��������[�����

=������� 6HW

�� �
6DIHW\�ODWFK�DVVHPEO\��
,WHP���������������

=������� 6HW

�� �

/RDG�KRRN�DVVHPEO\��
,WHP� ���������[���
��������
�����[��������[�����

=������� 6HW

�� �
)ULFWLRQ�SODWHV�DVVHP�
EO\��,WHP������[�

=������� 6HW

�� �
2YHUORDG�SURWHFWLRQ�
DVVHPEO\��,WHP������
������������������

=������� 6HW

�� �
5DWFKHW�3DZO�DVVHP�
EO\��,WHP������[������
��[��������[�

=������� 6HW

�� �
/RFNLQJ�VHW�DVVHPEO\�
,WHP���������[�

=������� 6HW

&RPSRQHQW�SDUWV�35(0,80�352����W
,WHP 4W\� 'HVFULSWLRQ 3DUW�1R�

� � /RFNLQJ�QXW =������� 3LHFH

� � *HDU�ER[�FDS =������� 3LHFH

� � :DVKHU =������� 3LHFH

� � *HDU�ZKHHO =������� 3LHFH

� � 'ULYLQJ�VKDIW =������� 3LHFH

� � &HQWHU�JHDU�ZKHHO =������� 3LHFH

� � 5LJKW�VLGH�SODWH� =������� 3LHFH

� � 7RS�KRRN�SLQ =������� 3LHFH
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